To determine the paternity of the child fhe aitached DNA was combined with the restriction enzyme
ECOR 1. This restriction enzyme recognizes and cuts the sequence: GAT/ATC. Cut the DNA into
the sppropriute fragments and place them on your gel electrophoresis model. Use the modcl to
answer the conclusion questions.

1
2.
3.
4

5.

Whs 5 the father of the child? Explain how your group came 10 (his conclusion,

What size DNA fragment docs the child have in common with ber mother?

What size DNA fragment does the child have in common with her father?

If we dvd not have a sample of John's DNA could you be certain that Bob is not the father?
Lxplain your answet,

Creating DNA fingerprints with gel electrophoresis is also used to solve crimes, Below isa
picture of a DNA fingerprint that could be used to golve a crime. 17 a skin cells were found on a
viciim at the crime scene (V) and skin samples were taken from twp suspects (X and §), who
cosamited the crime? ! R e &) e

Paternity DINA Sanpley

MOTHER - ATGATATCOCGTCAATIGATATC

CHILE « ATCAAGATATCOCGTCAATTIGAT

BOB - GOCTTACAAGAACCOATATCOCA

JOHN - GATATCAAGATATCAGATAT(CC
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